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6, = - 60 MPa 6}:--4{)MP¢
Buue - ’&;‘j = ~50 MPa

Points
X3 (6x,~Tay) = (= 6OMPa - 3C MPa)
Y:(GJJ (L (—‘IOHPRJ 35 MPa)
C: (e, 0) 7 (-50HPa, O)

+mﬁ=%§~= Iﬁ=3.5oo

8 = M™.08°

O, = - 38 = -51.03

ol= 180"~ £ = 105.95°

0, = Fd = §2.97° -

R [ e < {1 aE = 34 MPa
G = 6u-R = -S0-36.4 = -8.4 MPa
Gy = Ba+R 7 =50436.4 * -13.6 MPa

Oy = G+ 45° = T.97°

QE = en t qs-u = 97 'T?a

Ty = R 7 36.4 MPa

5‘ s G-M = =50 MP&-
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+12F, = O; Ryi+ Re —uwl =0
R, = wL — Ry = wl. — 3wl = Sul
R, = iuwl
+TEM,=0: M, + RgL — (L)L) =0
M, =twL® = RgL = tel® - 3wl® = twl?
M, = swl®"
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A = 4(2) = 8.00in’
1 ; »
[i= E(z)(ﬂr} = 10.667 in

| .
Ly =70 (4)(23) = 2.6667 in* (Controls /)
_ mEI
cr (KL}z

_ 7(1.6)(10°)(2.6667)
[1(10)(12)]
2.924 kip = 2.92 kip

Critical Stress: Euler’s formula is only valid if o, < oy,

P, 2924 : poe o
Tor = 7| = W = ().3655 ksi < Ty = 5 ksi

¥ 5IF A LA A | bW



ol , 15" ,g.l..l.u al=dila \\V//
Janlag jgail 15,4 7/1\\\‘
LR T B R | W

¥ zlao cuoglio 3 ol
WAYIYE (gl jos oo 3 o 38 &S/ (s i

M 2l 5y o

VY i —— g {aid) ogesl ol

US! ':ru}qf caoredinate ':?.

1._..a.,,?-‘\,\*.ﬁ‘nje the bend- L MQ""IE""* MG?‘ us..'w-;
F'ree boﬂm’ E-T

+DFP43 - ¥ P'x,—- ™M=
M= Py = PRen
Stvaln B"\E""ﬁ'}!- [5] jZEI

(PRsingY' PR L
S QET (Qﬂlw{ ZEI “‘a c.'m':,ﬂa;”-v)

B, CiuS'i‘ij{ﬁ.mﬂ\S theoren |

WWAF Lty

f o\ amin



